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BACHELOR’S DEGREE PROGRAMME
Term-End Examination

June, 2022

ECO-05 : MERCANTILE LAW

Time : 2 hours Maximum Marks : 50

(Weightage : 70%)

Note : Attempt any five questions. All questions carry
equal marks.

1. “An agreement enforceable by law is a contract.”
Discuss the definition and explain briefly the
essentials of a valid contract. 10

2. Who is a minor ? Discuss with suitable
illustrations the law relating to wvalidity of
contracts with minor. 248

3. “An agreement in restraint of trade is void.”
Discuss the statement giving exceptions to it, if
any. 10

4. Define the term ‘Agent’ and ‘Principal’. What is
the test of agency ? Is consideration necessary to
create an agency ? Explain. 242+3+3
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5. What are the rules as to the passing of property
from a seller to a buyer in a contract of sale of
ascertained goods ? 10

6. Define pledge. Distinguish between pledge and
bailment. When will a pledge made by a
non-owner of goods be valid ? 2+4+4

7. What is a contract of guarantee ? Discuss the
extent of surety’s liability. 248

8. Define partnership. What are the essential
elements of a partnership ? 248

9. Answer the following problems. Give reasons in
support of your answer. 5+5

(a) ‘A’ contracts to supply to ‘B’ a certain
quantity of timber of one inch thickness. The
timber actually supplied to ‘B’ varies in
thickness. The timber is merchantable and
commercially fit for the purpose for which it
was ordered. ‘B’ rejects the timber. Is his
action justified ?

(b) X’ invites Y’ to his house for dinner. Y’
accepts the invitation. X’ made arrangement
for dinner, but ‘Y’ did not come. Can X’ sue
Y’ for the loss he has suffered ?
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